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PROBLEM: 68 , 69 (cost optimal inspection plan)
CLASSIFICATION: GGR-P1-(1,2)
SOURCE: Collani [19]
NUMBER OF VARIABLES: n=4¢%
NUMBER OF CONSTRAINTS: m, = 0 y M-m, = 2 , D =8
OBJECTIVE FUNCTION:
b, (exp(x,) = 1) - x
f(x) = (aini - L 2 x4)/x1 , i=1,2
exp(x1) -1 +x
No. 68 : a, = .0001 , b, =1 ’ d1 =1, n, =24
No. 69 : ap, = .1 , b, = 1000 , 4, = 1,0, =4
CONSTRAINTS:
X5 = ZQ(—X2) = 0
Xy = ‘I’(-X2 - diJni) - Q(—x2 - dyWmy) = 0
* 2
¢(x) = [ exp(-y“/2)/J2m dy
-0
.0001 = X, < 100 , O = xg < 100 , O = X5 % 2 4 0% X, < -
START X = (1,1 4514 1) (not feasible)
- for both problems
f(xo) = =.2618407 -631.3525
SOLUTION:  x* - (.06785874,3.6461717,.00026617,.8948622)
(.02937141,1.190253%4,.23394676,.7916678)
f(x*) = =.920425026 -956.71288
r(x*) = «54E-T7 W44E-10
e (x*) = «14E-4 .33E-4
98 = 0 0
I(x*) = = -
ux Suk. o= 13.66/.0777 = 176 44.47/32.81 = 1.3
A* /A%, = 16.4/.062 = .26E3 .26E5/19.6 = .1E4

max’ min






